
INSTALLATION GUIDE
civic x oil cooler kit

Tools Required:
Phillips head screwdriver
Flat head screwdriver 
10mm socket 
5mm allen wrench 
-10an wrench 
(adjustable wrench can work in a 
pinch)
Trim tool
24mm socket 
18mm socket 

WHat’s in the box:
(1) Oil cooler mounting bracket (Upper and Lower)
(1) Oil cooler line kit (2 lines)
(1) Oil cooler filter sandwich plate (2 Pieces)
(2) -10AN to -10ORB Fittings
(2) -4AN Hex Head Plugs
(1) 1/8NPT Alen Plug
(1) 3/4 Mil-Spec Washer
(1) Oil cooler Custom 24mm Slim nut
(1) Oil cooler Filter Stud
(1) Setrab Oil Cooler
(2) Setrab Oil Cooler to -10AN Fittings
(2) M6x1.0x55 Socket Head Bolts

1. Start by placing vehicle on jackstands/
lift

(8) M6x1.0x16 Hex Head Bolts
(1) 222 Buna-N O-ring
(2) 229 Buna-N O-ring
(2) 7/8” Rubber Loop Clamps
(4) M6 Threaded Plates
(4) M6 Rubber isolators

2A-C. Remove front bumper (push pins)



2a-c. continued

5A-C. Remove plastic shroud pictured, this will allow you to route the cooler lines(Remove clips and pull) then reinstall the 
headlight (5 10mm bolts) 

2

6A-C. Assemble oil cooler and bracket as pictured, leaving the outer bottom 2 holes without bolts as this will be used later to 
secure cooler lines. Thread the two M22to-10AN adapters into the top of the Oil cooler and tighten. 

3. Remove undertray ( ¼  turn flat head 
fasteners, phillips screws)

4. Remove headlight (5 10mm bolts) 



3

7A-B. Remove the 4 10mm bolts securing AC condenser (Two driver side, two passenger side)  be sure to have a hold on it so it does 
not drop when all the bolts are removed to prevent damaging it.

8A-E. Attach cooler assembly to vehicle by reusing the bolts you removed from the ac condenser, securing both ac condenser 
and oil cooler from the same mount

8a-e. continued 9A-B. Remove oil filter, set aside 



10A-C. Install upper half of oil filter sandwich plate, use included nut and washer (24mm) 
to secure to the oil pan. Ensure orb fitting is tight. Clock the sandwich plate as pictured

4

11A-D. Install lower half of sandwich plate, using included hardware (5mm al-
len) to secure the 2 halves together. Install oil filter adapter to the end of the 
sandwich plate, this allows you to thread your oil filter onto the sandwich plate. 
Ensure the black ORB caps are installed in the bottom (as pictured) these seal the 
5mm allen head bolts you installed from leaking and are not just for looks (18mm)

9A-B. continued

10A-C. continued

11A-D. continued



5

12A-D. CONTINUED

12A-D. CONTINUED 13A-D. Route short line from passenger side of oil cooler to the top half of the oil 
cooler, tighten both hose ends and orb fittings

11A-D. continued 12A-D. Route the longer line from the drivers side of the oil cooler to the lower 
half of the sandwich plate, secure with black P clamps supplied, these will mount 
to the oil cooler in the holes you left open earlier. Ensure the hose ends are tight 
and orb fittings are tight (-10an)



6

13A-D. CONTINUED

THank you for choosing maperformance!

If you have any problems or concerns during installation of this product, feel free to call or email us: 

1-888-MAPERFORMANCE
sales@maperformance.com

Show us some photos! @maperformance / #maperformance

14. Reinstall oil filter (K&N HP1010)

15.  Do a once over of all the bolts and 
fittings, ensure they are all snug

16. Top off engine oil, this cooler will 
add about 1qrt of oil to your capacity 

17. Start and check for leaks, confirm 
oil level is correct on the dipstick 

18. Reinstall bumper cover and undertray


